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Time Allowed 3.O0 Hours Maximum Marks 

Nlajemga:(1) 

Instructions (1) Check the question paper for fairness of printing If there is any lack of 

fairness, inforn the Hall Supervisor immediately 

(2) Use Blue or Black ink to write and underline and pencil to draw 

diagrams. 

Note This question paper contains four parts 

LIG, - I/ PART - I 

12x1 11 

SDluy: (i) J6D6OISI oHlornd(Gh(GLd oil u1atlisaj 

(11) 

() Answer all the questi1ons Note 

(1) Choose the most appropriate answer trom the given four alternatives 

and wTite the option code and the correspondng answer. 

$lhUL/ Turn o- 
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1. 
l6`5 GlumGT 60J`6ÚUL GoaTiqI GlgTMaV4 

()Folarg dzrnavay 

()f 

(FF) f-s(GLÒ 2f -6(GLÒ LLuld 

) 2f 

Where should an object be placed so that a real and inverted image of same size 

is obtained by a convex lens ? 

(b) infinity 
(a) f 

(d) between f and 2f 
(c) 2f 

paD 6T60 pEBÚuGEIp5 

(FF 
()I ()GabDI 

molecule. 

If a molecule is made of similar kind of atoms, then it is called 

(d) homo atomic poly atomic 

(a) Mono atomic (b hetero atomic (c) 

3. LD L5660TEa)ld 2616T ]50tlor 6T 600T60otla cns 

()3 () 4 (FF) 5 
()2 

The number of components in a binary solution is 

(a) 2 (b) 3 (c) 4 d 5 

4. 12 a.b ublongmL LÓ 5 opT� Gpgò QG LÚleSlaTsdle auoluTs uTuélpgi GTa11 6) 

T SiGuu osdvg)ILD LblcTSamL5l6061T6 6T60T601? 

(-4) 60 A ()17 A () 2.4 A (PT) 24 A 

A charge of 12 coulomb lows through a bulb in 5 second. What is the current 
through the bulb ? 

(al 60 A fb) 17A (c) 2.4 A (d) 24 A 
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GTTTUJLD ST6O0TLIg P6 irLo 86»sd. aYsiTGT GTEG60ITablsoT &5015D 
95.5% ()75.5% ( 55.5% (FF) 45.5% 

Rectified spirit is an aqueous solution which contains about of ethanol. 

(a) 95.5% 
(b) 75.5% (c) 55.5% (d) 45.5% 

6. 61TBTE5lui 6EDLD 6T 60T LIB GTE6T &pÚqÚ uTLIT(LD ? 

( GouT ()BTO na56T FTF) LDOÍT5T 

The endarch condition is the characteristic feature of 
. 

(a) root (b stem (c) (d) leaves flowers 

7cncflem5ub 60 D5T GlsrõoTLL. 

)3 ()4 (2 (FF 5 

The heart of fishes possess chambers. 

(a) 3 (b) 4 (c) 2 (d) 5 

eypta. ilcngu6nLLU ZITOUTTEIE56Tla ( EIGuTvoluTLDBOT),6OT GsSL 6Táialns 

l8 dlalGbEI 2Gaumapgi ? 

(FF) 6 LDGGynoaGumi 

Male gametes in angiosperms are tormed by the division of 

(b) Vegetative cell 

(a) Generative cell 

(d) Microspore 
Pollen grain mother cell 

cl 
Us/ Turn 
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9. 

()Sotlud sqÚN 

Which one is referred as "Master Gland" ? 
(a) Pineal gland 

(c) Thyroid gland 
(b) Pituitary gland 
(d) Adrenal gland 

10. 80LUHMLOTË BU LDDNo Gzira olaivzw epawoNs 2(hUTË,5ÚULL FIG 5bTU5 6TTULS BILDLU Gupp oblbifl oro0TLIG co5iDrgD. 
LTBTÚ (LDB8TöGsnerb ()5GDY FF GEIMLD 
Himgiri developed by hybridization and selection for disease resistance against rust pathogens is a variety of 
(a) chilli (b) maize (c)sugarcane (d) wheat 

11. duGSES 

(1) tu bpd ) 0fr 
2) uLGyralub (il) 6aGuA 

(3 601d LblT6Tropa (iii)sb5I GuTsTE DpD 
(4) oT6T ET560TLD 

) (1) (iv), (2) (ii), (3) - (i), (4) - (i) 

)-(ii), (2) - (iv), (3) (i), (4) (i) 
(1)- (ii), (2) - (i), (3) - (iv), (4) - (i) 

(m) (1)- 6). (2) (iv), (3) (ii), (4) (ii) 

Match the following 

(1 Solar Energy i) Flowing water 
21 Petroleum (ii) Mobile phone 
(3 Hydropower (iii) Inexhaustible energy 
(4) Electronic device (iv) Exhaustible energy resource 
al 1) (iv), (2) (ii). (3) (i), (4) - (i) 

b 1 (iu). (2) (iv). (3) i). (4)tn) b) 

IC1 lii). 12) i). 13)- (ivi. (4)- (i) C 

d (1 i, (2 (ivi. (3) fii. 14 (ii 
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5 

12 

( tl si Gapr 85COT GlLo0T L_D 

( umdGLu 

ufloTITLD GsTiuTG%oT 

(PT) 6OT LUTULq 6DL GUTLOMITS uTJLDLufu olsT 

Find the correct pair : 

(a) Gregor Johann Mendel Theory of Natural Selection 

(b) Waldeyer Chromosomes 

(c) Watson and Crick Theory of Evolution 

(d) Jean Baptiste Lamarck Law of Heredity 

IG - I/ PART II 

5pluy 61606J6uGOJ LD 6 (P oileoTT `5 (C1h 6 (5 oil 6_uustl s5a|Lb. oo 6T6001 22-60 

LLTULoTS alL_UGTl550LD. 

Note 
Answer any seven questions. Question No. 22 is compulsory. 

13. ByLLoTl60T T0oTL TÒ OUlG|u`lm6o nn5 

State Newton's second law. 

4 GT lgreluicoT TG5bToT uuTUTG560eT 6T(Y5i. 

Write any two applications of echo. 

State Bovle's Law. 
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16. 
sBssÜULGorem 

GsLorISaflT 
onTsud dsm5 oDgLò HTel TT-Bsnr 

6T 5. 

6119 

eTLoLo ol6mer Gsusv GlgnE l6ToleaTTO 

SLGLTGoT 

Write the functional group and the suffix used for the following class of compounds. 

Class of Compounds Functional Group Suffix used 

Alcohol 

Alde hyde 

Ketone 

Carboxylic Acid 

17. D6nLp r GsÁUIT (LD`SusgjadsdT wTMa ? 

What is the importance of rainwater harvesting ? 

18. TGésLuLGOTOT LLgso A, B, C, D u uTBÀSMGT LUTTÒ ETTE 

Identify the parts A, B, C, D in the given figure. 

A 

B 

C 

D 

19. ul o0T TTLDLD CTTmTO) CroTOT? utl07TLDS, GGTUT )oT (LpT ol Lo TLOibSutsT TT 

What is evolution ? Who proposed the theories of evolution ? 
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1 

Name the two maize hybrids rich in amino acid lysine. 

What is the importance of valves in the heart ? 

TOT5T LOLGGo &TaDTub. a 205 Ggrm aail 2_TGTÚ GlLTGMT 

TTOT? 

A person with myopia can see objects placed at a distance of 4 m. If he wants to 
see objects at a distance of 20 m, what should be the focal length and power of 

the concave lens he must wear ? 

uS - III/ PART - III 

5p 61 60 6 GwLD 6( o6oTs5(C,S ( olmLuotlsa50|0. «lOT IT 61600 32 -
7x4-28 6LLTULoTS onLUGtl55ajLb 

Note Answer any seven questions. Question No. 32 is compulsory. 

23. p Loomb T6L6w GainiuG5H%. 

Differentiate mass and weight. 

any tour properties of light. 

SÚy5/ Turn ov- 
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25. 6aau y hihI.14,61160I 
IDhG, 6 

Explain why the ccilings of concert halls are curved ? 

26. 9M) Gan8.Á4000 G 61DT) GTG01G61? 

(a) What is an alloy ? 

(b) GIve the reasons for alloying. 

27. ipsc Gaiunssafleit sLIA ar6lol AgrLgü Aurpsi auensiuG~g5 DDID 
A MLDLIL TUJJUML606T (L51. 

(i) yUCu (ii) luenêcn 

(i1i) a1606ITUI GLGLT (iv) u 

Classify the following compounds based on the pattern of carbon chain and give 
their structural formula: 

(i) Propanc (ii) Benzene 

(i) Cyclobutanc (iv) Furan 

28.9A) 4GU14 Ia GI AD ar01661? 

fa) What is respiratory quotient ? 

Write the overall reaction lor photosynthesis. 
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29. () BrmesluGuT5 DnOugu Bspiá9eT L aungEs 

()556T5( LU deoseflen uLEMET UEn 

(a) Draw and label the parts of process of transpiration 
Draw the pictures of Granulocytes. 

(b) 

30. ()stier5ef Ggnop uDluu GsrLuTGsneTÙ LLQuaGs. 

a)List the theories postulated to explain the origin of life. 

Who coined the term 'Ethnobotany'? b) 

Discuss the importance of biotechnology in the field of medicine. 

uTgélpgj. B hoye GsTHgD GLuTS B ðer A reng 

1DomLb B' -1Gcn 4LTeTLD 8T0015 #DLuTLG T T 

is a blue coloured crystalline salt. On heatng it loses blue colour and gves B 

hen water is added, B' gives back 'A. ldentit A .ind B Write the equation 

Turn over 
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G - V/ PART - V 

L S00601GI o6omáB(aK,á(Gib olen_u1Giflásajb. GgmaiuwmT g5l5o1T60 LD 

3x7-2 60JLJaJLD. 

Note: Answer all the questions. Draw diagrams wherever necessary. 

33. () (i) learGam 

(ii) LblGoTdoTLGBao WJMgI ? aJ6mJun]%%a|D. 

(1ii) LblT CGormLj6)Z 6r[i, Bhoilulo eLpavib GTail plqLD ? 560601 PG 

LSlcoThold 6raJaimi mo0., GaloiorGLD ? 

()i) LI G5d saBiflusssjh6ngs B6TL_1olibg56aIi ui ? 

(ii) 

6T(L55. 

(ii) GaGTIT G0T 6 LD, gi6mpui sfuss Gy Gum 8GsrGLTúysaflor uuMST 

G5Lb poorbla60T 6TLPG5. 

(a) i) What is meant by electric current? 

(ii) Name and define its unit. 

(11 Which instrument is used to measure the electric current ? How should 
it be connected in a circuit ? 

OR 

(b (i) Who discovered natural radioactivity? 

(i1) WTite any three leatures of natural and artificial radioactivity.

(iii Give any three uses of rido 1sotopes in the tictd of agriculture, 
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34 

wgasaib TGs5ssmLG 5Gs 

len_Guuren Gaugur@zcnar srG$S 

Gsrsns alne aorugásan
(ii) Gstáas eileaig p 
(11) e LDD Serm alneT& CDET Gagu®55 

al i) Define : Atomicity. Give an example. 
(ii) Onsolidate the major differences between atoms and molecules. 

OR 

b(1 Define combination reaction 
(ii) Give an example for combination reaction. 

(111 Differentiate reversible and irreversible reaction. 

lEuhs $mssT STTI Lmmau ? r®[gé5TLOsT 5G 

(i1) pedlen eTAY amTuwnasajLD. 
(1 0T E5 016TTTTLÒ fma aTLIGUG$S 2-ÚLYE OT s 

) GLD 60T Ld 5 60T 

Gsirs s O[snt ? 

(11) LD5 AGDEILUQJTBEG TDLIGUD Llyg8lm601850DST t GauuasisTAT STaas 
(11

(1) What are synthetic auxins ? Give examples. 

(11) Define triple fusion. 

(111) Name the secondary seX organS in male. 

OR 

Why did Mendel select pea plant tor his experiment ? 

Suggest 
measures 

to 
Overcome 

the problems of an alcoholic. 

i 

- o 0 o -
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